

**DATA PENGISIAN SLB  
SD NEGERI DAN SWASTA SE KOTA PALU**

No	Nama Sekolah	Bentuk	Kepsek	Kepsek Mengisi	Guru	Guru Mengisi	% Guru
1	SD KATOLIK SANTO ANTONIUS PALU	SD	1	1	19	18	94.74%
2	SD MUHAMMADIYAH 1 PALU	SD	1	1	8	8	100.00%
3	SD NEGERI 9 PALU	SD	1	1	7	5	71.43%
4	SD DDI PALU	SD	1	1	8	8	100.00%
5	SD INPRES PERUMNAS	SD	1	1	15	14	93.33%
6	SD NEGERI 2 PALU	SD	1	1	9	9	100.00%
7	SD INPRES 3 LERE	SD	1	1	9	9	100.00%
8	SD NEGERI 6 PALU	SD	1	1	14	14	100.00%
9	SD INPRES 1 KAMONJI	SD	1	1	9	9	100.00%
10	SD INPRES 2 LERE	SD	1	1	9	9	100.00%
11	SD INPRES 1 UJUNA	SD	1	1	13	13	100.00%
12	SD MUHAMMADIYAH 3 PALU	SD	1	1	7	7	100.00%
13	SD INPRES BALAROA	SD	1	1	8	8	100.00%
14	SD NEGERI BALAROA	SD	1	1	10	10	100.00%
15	SD INPRES 1 LERE	SD	1	1	10	10	100.00%
16	SD INPRES 2 KAMONJI	SD	1	1	8	8	100.00%
17	SD INPRES BARU	SD	1	1	9	9	100.00%
18	SD INPRES BUMI BAHARI	SD	1	1	15	15	100.00%
19	SD ALKHAIRAAT 1 PALU	SD	1	1	29	28	96.55%
20	SD NEGERI 20 PALU	SD	1	1	7	7	100.00%
21	SD NEGERI 4 PALU	SD	1	1	9	8	88.89%
22	SD NEGERI 11 PALU	SD	1	1	9	9	100.00%
23	SD NEGERI 12 PALU	SD	1	1	15	14	93.33%
24	SDN INPRES 2 UJUNA	SD	1	1	8	8	100.00%
25	SD NEGERI 2 TALISE	SD	1	1	10	10	100.00%
26	SD NEGERI TANAMODINDI	SD	1	1	15	15	100.00%
27	SD UNGGULAN PUTRA KAILI PERMATA BANGSA	SD	1	1	11	11	100.00%
28	SD INTEGRAL HIDAYATULLAH TONDO	SD	1	1	18	18	100.00%
29	SDN INPRES 2 TALISE	SD	1	1	10	10	100.00%
30	SD NEGERI 1 TALISE	SD	1	1	9	9	100.00%
31	SD NEGERI 23 PALU	SD	1	1	9	9	100.00%
32	SD NEGERI MODEL TERPADU MADANI	SD	1	1	23	23	100.00%
33	SD ISLAM TERPADU IBNUL MUBAROK PALU	SD	1	0	2	0	0.00%
34	SD INPRES 2 TONDO	SD	1	1	9	9	100.00%
35	SD NEGERI POBOYA	SD	1	1	15	15	100.00%
36	SD INPRES 1 KAWATUNA	SD	1	1	10	10	100.00%
37	SD ALKHAIRAAT TONDO	SD	1	1	8	8	100.00%
38	SD INPRES 1 TALISE	SD	1	1	13	13	100.00%
39	SD INPRES 3 TALISE	SD	1	1	15	15	100.00%
40	SD NEGERI KAWATUNA	SD	1	1	10	9	90.00%
41	SD INPRES 2 LASOANI	SD	1	1	12	12	100.00%
42	SD INPRES 3 TONDO	SD	1	1	15	15	100.00%
43	SDN INPRES 1 LASOANI	SD	1	1	12	12	100.00%
44	SD ISLAM AL FATH PALU	SD	1	0	1	0	0.00%

No	Nama Sekolah	Bentuk	Kepsek	Kepsek Mengisi	Guru	Guru Mengisi	% Guru
45	SD NEGERI TONDO	SD	1	1	15	15	100.00%
46	SDN INPRES LIK LAYANA INDAH	SD	1	1	14	14	100.00%
47	SD AL AZHAR MANDIRI PALU	SD	1	1	20	20	100.00%
48	SD NEGERI LASOANI	SD	1	1	13	13	100.00%
49	SD INPRES 1 TONDO	SD	1	1	10	10	100.00%
50	SD INPRES 2 TANAMODINDI	SD	0	0	17	17	100.00%
51	SD INPRES 2 KAWATUNA	SD	0	0	9	9	100.00%
52	SD INPRES 1 TANAMODINDI	SD	1	1	17	17	100.00%
53	SD KARYA THAIYYIBAH BAIYA	SD	0	0	7	7	100.00%
54	SD INPRES 14 PANTOLOAN	SD	1	1	12	12	100.00%
55	SD INPRES 15 WARA	SD	1	0	9	0	0.00%
56	SD INPRES 13 OVA PANTOLOAN	SD	1	1	7	7	100.00%
57	SD INPRES 12 BAIYA	SD	1	1	13	13	100.00%
58	SD NEGERI 1 BAIYA	SD	1	1	12	12	100.00%
59	SD NEGERI 11 KAYUMABOKO	SD	1	1	7	7	100.00%
60	SD NEGERI 4 BAMBA	SD	1	1	9	8	88.89%
61	SD NEGERI 2 PANAU	SD	1	1	16	16	100.00%
62	SD NEGERI 12 LIMRAN	SD	1	0	7	0	0.00%
63	SD NEGERI 10 PANTOLOAN	SD	0	0	10	10	100.00%
64	SD INPRES 11 LIKU	SD	1	0	10	8	80.00%
65	SD NURUL ISLAM TAWAELI	SD	1	1	9	8	88.89%
66	SD INPRES 10 TALISE	SD	1	1	10	10	100.00%
67	SD INPRES 9 BAMBA	SD	1	1	9	9	100.00%
68	SD NEGERI 3 LAMBARA	SD	1	1	10	10	100.00%
69	SD INPRES BOYAOGE	SD	1	1	10	10	100.00%
70	SD ISLAM TERPADU IMAM MUSLIM	SD	0	0	10	8	80.00%
71	SD NEGERI PALUPI	SD	1	1	16	16	100.00%
72	SD ISLAM NURUL IKHLAS	SD	1	1	8	8	100.00%
73	SD PGRI PALU	SD	1	1	7	7	100.00%
74	SD NEGERI TATANGA	SD	0	0	10	8	80.00%
75	SD NEGERI 8 PALU	SD	1	1	12	12	100.00%
76	SD NEGERI 14 PALU	SD	1	1	8	8	100.00%
77	SD NEGERI PENGAWU	SD	1	1	23	23	100.00%
78	SD INPRES DUYU	SD	1	1	8	8	100.00%
79	SD INPRES PALUPI	SD	1	1	22	22	100.00%
80	SD KARUNA DIPA PALU	SD	1	1	18	18	100.00%
81	SD ISLAM TERPADU BINA INSAN PALU	SD	1	1	34	34	100.00%
82	SD NEGERI DUYU	SD	1	1	9	9	100.00%
83	SD NEGERI 21 PALU	SD	1	1	7	7	100.00%
84	SD ISLAM TERPADU PERSIS	SD	1	1	13	13	100.00%
85	SD ALAM AL-FATIH PALU	SD	1	1	4	4	100.00%
86	SD INPRES TAVANJUKA	SD	1	1	8	8	100.00%
87	SDN INPRES SILAE	SD	1	1	17	17	100.00%
88	SD NEGERI DONGGALA KODI	SD	1	1	9	9	100.00%
89	SD INPRES BTN SILAE	SD	1	1	15	15	100.00%
90	SD Islam Khalifah Palu	SD	1	1	16	16	100.00%
91	SD NEGERI TIPO	SD	1	1	9	8	88.89%
92	SD INPRES KABONENA	SD	1	1	8	8	100.00%
93	SD INPRES TIPO	SD	1	1	11	6	54.55%

No	Nama Sekolah	Bentuk	Kepsek	Kepsek Mengisi	Guru	Guru Mengisi	% Guru
94	SD INPRES KECIL SALENA	SD	1	1	10	9	90.00%
95	SDI RAUDHATUL JANNAH	SD	1	1	8	8	100.00%
96	SD INPRES WATUSAMPU	SD	1	1	7	7	100.00%
97	SD NEGERI BULURI	SD	1	1	7	7	100.00%
98	SD BK LEKATU	SD	1	1	5	5	100.00%
99	SDN INPRES BULURI	SD	1	1	6	6	100.00%
100	SDN INPRES DONGGALA KODI	SD	1	1	10	10	100.00%
101	SD NEGERI KABONENA	SD	1	1	11	10	90.91%
102	SD INPRES SALENA PADANJESE	SD	1	1	9	9	100.00%
103	SD NEGERI WATUSAMPU	SD	1	1	8	8	100.00%
104	SD KECIL WANA	SD	1	1	7	6	85.71%
105	SD INPRES 1 KAYUMALUE PAJEKO	SD	1	1	12	12	100.00%
106	SD NEGERI 6 KAYUMALUE NGAPA	SD	1	1	10	10	100.00%
107	SD INPRES 2 KAYUMALUE NGAPA	SD	1	1	10	10	100.00%
108	SD ALKHAIRAAT MAMBORO	SD	1	1	8	8	100.00%
109	SD INPRES 7 LABUAN BARU	SD	1	1	15	14	93.33%
110	SD INPRES 8 MAMBORO	SD	1	1	16	15	93.75%
111	SD KARYA THAYYIBAH MAMBORO	SD	1	1	5	5	100.00%
112	SD NEGERI 9 MAMBORO	SD	1	1	9	9	100.00%
113	SD NEGERI 5 KAYUMALUE NGAPA	SD	1	1	7	7	100.00%
114	SD INPRES 4 TAIPA GINGGIRI	SD	1	1	12	12	100.00%
115	SD NEGERI 8 MAMBORO	SD	1	1	9	9	100.00%
116	SD INPRES 5 TAIPA LAGA	SD	1	1	12	12	100.00%
117	SD INPRES 3 LAI	SD	1	1	8	8	100.00%
118	SD NEGERI 7 TAIPA	SD	1	1	5	5	100.00%
119	SD INPRES 6 WATUOGE	SD	1	0	9	6	66.67%
120	SD NEGERI 16 PALU	SD	1	1	8	8	100.00%
121	SD NEGERI 13 PALU	SD	1	1	8	8	100.00%
122	SD NEGERI 27 PALU	SD	0	0	17	17	100.00%
123	SD ZION	SD	1	0	3	0	0.00%
124	SD IMANUEL	SD	1	1	28	28	100.00%
125	SD INPRES 2 BESUSU	SD	1	1	7	7	100.00%
126	SD INPRES 1 BESUSU	SD	1	1	8	8	100.00%
127	SD NEGERI 5 PALU	SD	1	1	12	11	91.67%
128	SD INPRES 2 LOLU	SD	1	1	9	9	100.00%
129	SDN INPRES 1 LOLU	SD	1	1	18	18	100.00%
130	SD INPRES 4 LOLU	SD	1	1	9	9	100.00%
131	SD NEGERI 10 PALU	SD	1	1	10	10	100.00%
132	SD NEGERI 1 PALU	SD	1	1	13	12	92.31%
133	SD NEGERI 25 PALU	SD	1	1	21	21	100.00%
134	SD NEGERI 22 PALU	SD	1	1	17	17	100.00%
135	SD NEGERI 15 PALU	SD	1	1	19	19	100.00%
136	SDN 26 Palu	SD	1	1	7	7	100.00%
137	SD MUHAMMADIYAH 2 PALU	SD	2	2	10	10	100.00%
138	SD ADVENT PALU	SD	1	0	7	7	100.00%
139	SD INPRES 5 LOLU	SD	1	1	7	7	100.00%
140	SD ALKHAIRAAT 2 PALU	SD	1	1	4	4	100.00%

No	Nama Sekolah	Bentuk	Kepsek	Kepsek Mengisi	Guru	Guru Mengisi	% Guru
141	SD NEGERI 24 PALU	SD	1	1	12	12	100.00%
142	SD NEGERI 17 PALU	SD	1	1	9	9	100.00%
143	SD NEGERI 7 PALU	SD	1	1	9	9	100.00%
144	SD ISLAM ALHIDAYAH BESUSU	SD	1	1	9	8	88.89%
145	SD INPRES 3 LOLU	SD	1	1	11	11	100.00%
146	SD INPRES BUMI SAGU	SD	1	1	15	15	100.00%
147	SD NEGERI 3 PALU	SD	1	1	20	20	100.00%
148	SD GAMALIEL	SD	1	1	31	31	100.00%
149	SD INPRES 6 LOLU	SD	1	1	12	11	91.67%
150	SD STELLA GRACIA SCHOOL	SD	1	1	6	5	83.33%
151	SD INPRES 3 BIROBULI	SD	1	1	27	27	100.00%
152	SD INPRES PETOBO	SD	1	1	6	6	100.00%
153	SD NEGERI 1 PETOBO	SD	1	1	7	7	100.00%
154	SD INPRES 2 BIROBULI	SD	1	1	11	11	100.00%
155	SD INPRES 5 BIROBULI	SD	1	1	17	17	100.00%
156	SD KRISTEN BALA KESELAMATAN	SD	1	1	19	19	100.00%
157	SD NEGERI 2 TATURA	SD	1	1	20	20	100.00%
158	SD NEGERI 1 TATURA	SD	1	1	24	23	95.83%
159	SD NEGERI BIRO	SD	1	1	13	13	100.00%
160	SD INPRES 1 TATURA	SD	1	1	15	15	100.00%
161	SD NEGERI 2 PETOBO	SD	1	1	10	10	100.00%
162	SD INPRES 3 TATURA	SD	1	1	18	18	100.00%
163	SDN INPRES 1 BIROBULI	SD	1	1	19	19	100.00%
164	SD INPRES 4 BIROBULI	SD	1	1	17	17	100.00%
165	SD KARAKTER PERMATAKU	SD	1	1	7	5	71.43%
166	SD ISLAM TERPADU AL FAHMI PALU	SD	1	1	66	51	77.27%
167	SD INPRES 2 TATURA	SD	1	1	12	11	91.67%
168	SD ISLAM IQRA PETOBO	SD	1	1	5	5	100.00%
169	SD ISLAM AL AKBAR PETOBO	SD	1	1	7	6	85.71%
170	SD KRISTEN GPID PALU	SD	1	1	7	6	85.71%
171	SDIT BINA ANAK BANGSA	SD	1	1	13	13	100.00%

**DATA PENGISIAN SLB  
SMP NEGERI DAN SWASTA SE KOTA PALU**

No	Nama Sekolah	Bentuk	Kepsek	Kepsek Mengisi	Guru	Guru Mengisi	% Guru
1	SMP ALKHAIRAAT 1 PALU	SMP	1	1	37	37	100.00%
2	SMP ALKHAIRAAT 2 PALU	SMP	1	1	11	10	90.91%
3	SMP NEGERI 10 PALU	SMP	1	1	37	31	83.78%
4	SMP MUHAMMADIYAH 1 PALU	SMP	1	1	12	12	100.00%
5	SMP KATOLIK SANTO PAULUS PALU	SMP	1	1	16	16	100.00%
6	SMP PGRI 3 PALU	SMP	1	0	11	8	72.73%
7	SMP NEGERI 3 PALU	SMP	2	2	71	62	87.32%
8	SMP NEGERI 12 PALU	SMP	1	1	12	12	100.00%
9	SMP NEGERI 7 PALU	SMP	1	1	40	40	100.00%
10	SMP NEGERI MODEL TERPADU MADANI	SMP	1	1	37	26	70.27%
11	SMP NEGERI SATU ATAP LIK LAYANA INDAH	SMP	1	1	12	12	100.00%
12	SMP NEGERI 19 PALU	SMP	1	1	26	25	96.15%
13	SMP NEGERI 16 PALU	SMP	1	1	31	23	74.19%
14	SMP NEGERI 22 PALU	SMP	1	0	26	0	0.00%
15	SMP NEGERI 17 PALU	SMP	1	0	31	25	80.65%
16	SMP PGRI 2 PALU	SMP	1	1	9	8	88.89%
17	SMP ISLAM TERPADU IMAM MUSLIM PALU	SMP	1	1	5	5	100.00%
18	SMP KARUNA DIPA PALU	SMP	1	1	16	14	87.50%
19	SMP IT QURROTA A YUN PALU	SMP	1	1	28	25	89.29%
20	SMP IT PERSIS PALU	SMP	1	1	10	8	80.00%
21	SMP NEGERI 5 PALU	SMP	1	1	31	30	96.77%
22	SMP NEGERI 11 PALU	SMP	1	1	27	20	74.07%
23	SMP AMALIAH	SMP	1	1	10	8	80.00%
24	SMP NEGERI 8 PALU	SMP	1	1	36	29	80.56%
25	SMP NEGERI 13 PALU	SMP	1	1	41	41	100.00%
26	SMP KARYA BAKTI MAMBORO	SMP	2	2	9	8	88.89%
27	SMP NEGERI 20 PALU	SMP	1	1	28	24	85.71%
28	SMP NEGERI 18 PALU	SMP	1	1	32	31	96.88%
29	SMP NEGERI 1 PALU	SMP	1	1	62	60	96.77%
30	SMP GAMALIEL PALU	SMP	1	1	17	17	100.00%
31	SMP AL AZHAR MANDIRI PALU	SMP	1	1	33	33	100.00%
32	SMP LABSCHOOL	SMP	1	1	26	25	96.15%
33	SMP NEGERI 4 PALU	SMP	1	1	60	60	100.00%
34	SMP BERDIKARI PALU	SMP	0	0	3	0	0.00%
35	SMP GKST PALU	SMP	1	1	14	14	100.00%
36	SMP SWADAYA PALU	SMP	1	1	9	6	66.67%
37	SMP NEGERI 15 PALU	SMP	1	1	51	50	98.04%
38	SMP NEGERI 14 PALU	SMP	1	1	41	38	92.68%
39	SMP NEGERI 2 PALU	SMP	1	1	72	61	84.72%
40	SMP ADVENT PALU	SMP	1	1	7	7	100.00%
41	SMP KRISTEN GPID PALU	SMP	1	1	7	5	71.43%

No	Nama Sekolah	Bentuk	Kepsek	Kepsek Mengisi	Guru	Guru Mengisi	% Guru
42	SMP KRISTEN BALA KESELAMATAN PALU	SMP	1	1	18	18	100.00%
43	SMP OTAK KANAN INDONESIA PUSAT PALU	SMP	1	1	15	15	100.00%
44	SMP ISLAMIC SCHOOL PALU	SMP	1	1	9	7	77.78%
45	SMP NEGERI 9 PALU	SMP	1	1	64	62	96.88%
46	SMP NEGERI 21 PALU	SMP	1	1	20	13	65.00%
47	SMP NEGERI 6 PALU	SMP	1	1	51	50	98.04%
48	SMP ISLAM TERPADU AL-FAHMI	SMP	1	1	15	14	93.33%
49	SMP IT BINA ANAK BANGSA	SMP	1	1	10	3	30.00%

**DATA PENGISIAN SLB  
SKB DAN PKBM SE KOTA PALU**

No	Nama Sekolah	Bentuk	Kepsek	Kepsek Mengisi	Guru	Guru Mengisi	% Guru
1	PKBM ANUTAPURA TAGARI	PKBM	1	0	5	0	0.00%
2	PKBM KANA MAPANDE	PKBM	1	1	6	6	100.00%
3	PKBM MANTIKULORE	PKBM	1	1	4	4	100.00%
4	PKBM MUTIARA	PKBM	2	1	11	4	36.36%
5	SKB KASINTUVU	SKB	1	0	14	0	0.00%
6	PKBM SAMPOROA VALANGGUNI	PKBM	2	0	5	0	0.00%
7	SKB POSIMPOTOVE	SKB	1	1	12	10	83.33%
8	PKBM MELATI	PKBM	1	0	11	0	0.00%
9	PKBM GELATIK	PKBM	1	0	2	0	0.00%
10	PKBM MEDHIVA	PKBM	2	0	3	0	0.00%
11	PKBM NOSARARA NOSABATUTU	PKBM	3	3	9	9	100.00%
12	PKBM KATULISTIWA	PKBM	1	0	23	0	0.00%